AN(ZFD2) UR=Z2F-FRb WESALEHLMOT, 49~65DZh
EFNIEZOWTA~DD ) bbb BULREL T —2RY, ABEZROZOD?2
(URAZZ)ICRALZ S\, MEIZA), B 2HEEIIS»NTWT, &HT
I7HTY. WTFNORMBED —BELPH ZEFTEEIHA, MEZHERA
b, TRLITHEZRA LR SV, —HMOMERMIZN 10Ty, REMTIC
AEEWBELIWTLI Do

(A) Dialogs 1 ~10(49~58) TlZ, &L TF 7V Y ADH L IZEBHEFTTO
T, TS TAEDE RS2 28O S v,

Example Dialog
(A) Because she is always late.
(B) Because the movie will start soon.
(C) Because the busy roads may delay them.

(D) Because the man will not wait any longer.

Dialog 1
49. (A) 10%. (B) 15%. (C) 25%. (D) 40%.
Dialog 2
50. (A) $2. (B) $4. () $5. (D) $10.
Dialog 3
51. (A) On the 9th. (B) On the 10th.
(C) On the 16th. (D) On the 17th.
Dialog 4
52. (A) Monday and Friday. (B) Tuesday and Wednesday.
(C) Monday and Thursday. (D) Thursday and Friday.
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Dialog 5
53. (A)

Dialog 6
54. (A)

Dialog 7

Dialog 9
57. (A)
(€

Dialog 10
58. (A)

One. (B) Two.
At 12:30. (B) At 2:00.
A tablet PC.

Clothes.

On the first floor.
On the third floor.

While playing basketball.

While riding his bicycle.

$20. (B)  $40.

(C)

(@)

Three. (D) Four.
At 2:30. (D) At 3:00.
Money.

A car.

On the second floor.

On the fourth floor.

While using the stairs.

While running.

$50. (D) §75.
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(B) Passages 1 ~ 3 (59~65) TlZ, HFEZEH VT, RS /ZEMIZHT 5K
SR RO S, B, Passage 1 & Passage 2 [ZixF N EERM
ASZD, Passage 3IZIFEMA= 2050 T3, FEIZH ) THA.

Passage 1

59.

What time was the flight originally scheduled to depart from Tokyo

to Vancouver?

(A) 6:30 pm. (B) 7:00 pm. (C) 7:15 pm. (D) 7:30 pm.

60. When will the in-flight entertainment service begin?
(A)  After the announcement, (B) After the beverage service.
(C) After the dinner service. (D) After the duty-free service.

Passage 2

61. Where can people learn more about approved bicycle helmets from
today?
(A) From posters. (B) From the city council website.
(C) From police officers. (D) From the city hall.

62. How much money will repeat offenders be fined for not wearing a

bicycle helmet?

(a)  $20. (B)  $30. (C) $40. (D) $80.
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Passage 3
63. Where can customers buy a new coat?
(A)  On the first floor. (B)  On the second floor.
(C)  On the third floor. (D) On the fourth floor.

64. How much is the price of sweatshirts reduced by?

(A)  20%. (B) 25%. (C) 30%. (D) 40%.
65. For which item will customers receive two for the price of one?

(A) A wool coat. (B) A pair of rain boots.

(C) A sweater. (D) A pair of sandals.

Bl F & B
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